MIAMI-DADE MIAMI-DADE COUNTY

COUNTY _ PRODUCT CONTROL SECTION
BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208
BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474

T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building

Overhead Door Corporation
2501 South State Highway 121, Suite 200
Lewisville, TX 75067

ScorE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed and accepted by Miami-Dade
County BNC -Product Control Section to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ). :
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BNC
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Section that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series 170/180, 18’ Wide Steel Sectional Garage Door

APPROVAL DOCUMENT: Drawing No. 411057, titled “Series 170, 180WL WS9, 18’ Max. Wide”,
sheets 1 through 4 of 4, dated 05/31/11, prepared by Overhead Door Corporation, signed and sealed by
LeRoy Krupke, P.E., bearing the Miami-Dade County Product Control approval stamp with the NOA
number and approval date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large & Small Missile Impact Resistant

LABELING: A permanent labe! with the manufacturer’s name or logo, manufacturing address,

model/series number, the positive and negative design pressure rating, indicate impact rated if applicable,
installation instruction drawing reference number, approval number (NOA), the applicable test standards,
and the statement reading ‘Miami-Dade County Product Control Approved’ is to be located on the door’s
side track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed,
then it shall be done in its entirety. ‘
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1, evidence pages E-1 and E-2, as well as approval document mentioned
above. '

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No: 11-0211.04
Expiration Date: June 30, 2016

// Approval Date: June 30, 2011
(%’/ 20 / Page 1

s

MIAMIDADE COUNTY

APPROVED



Overhead Door Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Drawing No. 411057, titled “Serles 170, 180WL WS89, 18’ Max, Wide”, sheets 1
through 4 of 4, dated 05/31/11, prepared by Overhead Door Corporation, signed and
sealed by LeRoy Krupke, P.E.

B. TESTS
1..  Testreport on: 1) Uniform Static Air Pressure Test, per FBC, TAS 202-94
2) Large Missile Impact Test, per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading Test, per FBC, TAS 203-94,
along with marked-up drawings of an 18°x 7° Model 8024/8124 Galvanized Steel
Sectional Door System with an Aluminum Windload Post, prepared by Certified
Testing Laboratories, Inc., Test Report No. CTLA 2047W-1 dated 05/17/07, signed
and sealed by Ramesh- Patel P.E.
2. Test report on: 1) Uniform Static Air Pressure Test, per FBC, TAS 202-94
: 2) Large Missile Impact Test, per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading Test, per FBC, TAS 203-94,
along with marked-up drawings of an 18’x 7° Model 8024/8124 Galvanized Steel
Sectional Door System with an Aluminum Windload Post and Tmpact Resistant
Glazing, prepared by Certified Testing Laboratories, Inc., Test Report No. CTLA
2049W, dated 11/09/07, signed and sealed by Ramesh Patel, P.E.

3. Test report on Forced Entry Resistance per FBC, TAS 202-94 of a 16’x7” Series 180
Sectional Residential Steel Door, prepared by Hurricane Engineering & Testing, Inc.,
Test Report No, HETI-01-1016, dated 05/26/01, signed and sealed Arshad Viqar, P.E.

4. Test report on Self Ignition Temperature per ASTM D1929 of EPS foam plastic,
prepared by Omega Point Laboratories, dated 05/17/91, signed by William E. Fitch,
P.E.

S. Test report on Surface Burning Characteristics (Flame Spread and Smoke Density
Index) per ASTM E84 of EPS foam plastic, prepared by Omega Point Laboratories,
dated 07/30/01, signed by William E. Fitch, P.E. _

6. Test report on: 1) Uniform Static Air Pressure Test, per FBC, TAS 202-94

2) Test report on Tensile Test, per ASTM E8
along with marked-up drawings, prepared by Certified Testing Laboratories, Inc.,
Report # CTLA 1672W, dated 05/17/07 and 05/22/07, signed and sealed by Ramesh

Patel, P.E. “ Submitted under NOA # 07-0808.01”
@; /?_0 / "

Carlos M. Utrera, P.E.
Product Control Examiner
NOA No 11-0211.04

Expiration Date: June 30, 2016
Approval Date: June 30, 2011



Overhead Door Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. Anchor calculations and commercial track design verification prepared by Overhead
Door Engineering, dated 02/08/11, signed and sealed by LeRoy Krupke, P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 10-0329.03, issued to Sheffield Plastic, Inc., for their
Makrolon Polycarbonate Sheets, approved on 07/07/10 and expiring on 08/27/12.

E. QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

F. STATEMENTS
1. Statement letter of code conformance to 2007 FBC issued by Overhead Door
Corporation, dated 02/08/11, signed and sealed by LeRoy Krupke, P.E.
2. No financial interest letter issued by Overhead Door Corporation, dated 05/13/11,
signed and sealed by LeRoy Krupke, P.E.

G. OTHER
1. None.

(5’/ﬂ Iw /"

" Carlos M. Utrera, P.E.
Product Control Examiner
NOA No 11-0211.04
Expiration Date: June 30, 2016
Approval Date: June 30, 2011



> NOTES

NOTES:

1. IMPACT RESISTANT GLAZING SYSTEM
MAY BE INSTALLED IN TOP OR
INTERMEDIATE SECTION {WITH OR WITHOUT
DECORATIVE INSERTS). GLAZING SHALL
BE 1/4" MAKROLON—AR POLYCARBONATE

72N

13 GA HEADPLATE \

13 GA HORIZ ANGLE\

POST CHAIN ATTACHED

AN

20 GA CENTER STILE '

E ¢ DOOR

SHEET e \

REVISIONS

DESCRIPTION

UT|
o
=1
[
o
D]
]

RELEASE PER ER

THE DRAWINGS AND ALL NTHER INFORMATION CONTAINED HEREIN ARE THE CONPIDENTIAL AND PROFRIETARY PROPERTY OF OVERWEAD DOOR CORFORATION AND lTS &FFILIATED COMPANIES,
IUT THE PRIOR WRITTEN CONSENT DF OVERI
T0_USE _IT FOR ANY PURPOSE

The Genuine. The Orlginal.

DVEPHFA]] ]]E]EIR FI]RPI]RA |IUN
2501 §; STATE HWY 121, BUSINESS
LEWISVILLE, TX 73067

LERDY KRUPKE, FL PE 36580

<

{MIAM|-DADE NOA#0-0329.03) OR TO HORIZ ANGLE WITH A
EQUAL. MAXIMUM GLAZING DIMENSIONS S—HOOK ; 16 GA END STILE EET
SHALL BE 1B.56" x 12.26* SEE DETAIL 15 GA MIN HORIZ | \ N, ﬂ
E ON SHEET 2 FOR ASSEMBLY DETAILS. TRACK i
* )
2. VINYL OR WOOD DOOR STOP NAILED A LAG Sgég,‘"‘&?,{ 54 TN g === o o P -
MAXIMUM OF 6° 0.C. MUST OVERLAP TOP AS SHOWN) I T . e 4 ‘ 0]
AND BOTH ENDS OF PANELS MINIMUM A (] : oLl
7/18" TQ MEET NEGATIVE PRESSURES. 15 GA MIN VERT tlo ' ko) c .'2. L
\ H o H - @ )
3. KEY LOCK OR SLIDE LOCKS REQUIRED. ~Jllil® j o e .
- o %) ==
4. SECTION STEEL TO HAVE A MINIMUM . ile ° | o
24 GA THICKNESS WITH A MINIMUM G40 ! ilo . Kol
COATING AND A MINIMUM YIELD STRENGTH i IS ,
OF 33.8 KSI. A |
" 1 e .
5. THE DESIGN OF THE SUPPORTING B0t A 20 e ; ol I F AN
STRUCTURAL ELEMENTS SHALL BE THE NUT AT EACH Ja—US ilo ‘ n C @
RESPONSIBILITY OF THE PROFESSIONAL JAME BRACKET LOCATION L i SHEET 9
OF RECORD FOR THE BUILDING OR o . B Q" i SHEET o) 1
STRUCTURE AND (N ACCORDANCE WITH _ ile. ilo ) At ° ™ : i1t
CURRENT BUILDING CODES FOR THE 5/16x1-5/8" LAG oY L HEET o e K
LOADS LISTED ON THIS DRAWING. SCREW AT EACH tlo ey . *
éé JAMB BRACKET N et £ e A/
8. WOOD SUBSTRATE FOR DOOR JAMB IS i fo/ . o — !
TO BE MINIMUM 2x8 NC. 3 SOUTHERN | .
PINE. REFER TO SHEET 4 FOR ] ' . : :
ATTACHMENT TO SUPPORTING STRUCTURE. ] oy |
FOR MOUNTING OF CONTINOUS WALL _/ . \ : o A
Sgﬁ&ﬁ' S,EEE$°E“”°”5 WALL ANGLE 15 GA STIFFENED 0] . 0 - e .
JAMB BRACKETS D : . hd o , |
7. FOR LOW HEAD ROOM LIFT SEE SCHEDULE FOR 1y L H ) L o ' F=1
CONDITIONS, TOP BRACKET SHALL BE A QUANITY, kﬂgamyé ifo ' o o ’ [ |
13 GA LHR 7/4 TOP BRACKET WITH A ¢ o o A =
MINMUM OF (3) 1/4—14x7/8" SELF _/ oo il "
DRILLING CRIMPTITE SCREWS IN LIEU OF KEY LOCK OR SLIDE LOCK H . .
THE BRACKET SHOWN ON THIS DRAWING. EACH END (SEE NOTE 3). 1
U-BAR ON TOP SECTION SHALL BE SLIDE LOCK SHOWN FOR oXe
INSTALLED ON TOP OF LHR TOP CLARITY . .
BRACKETS. i [ o G At
A 1 o SHEET
6. LOUVERS MAY BE INSTALLED ON THE é} NOTE: N . - 4 :
DOOR IF THE TOTAL AREA OF THE SoLD Dogﬁ) S,ESJ,‘,? SEE ilo i D ) o \
LOUVER DOES NOT EXCEED 120 SQUARE _SHEET 2 FOR U—BAR H N ilo o e, o
INCHES. LOCATIONS ON DOORS g SHEET o, ®
W N ilo
g, DOOR WITHOUT POST SYSTEM HAS R TN NOTE Hpa ° S
BEEN TESTED TO WITHSTAND DESIGN @ 1 THIS SHEET FOR N
PRESSURES CORRESPONOING TO A 75 GLAZING OPTIONS. . 18 DOOR SHOWN. SEE
MPH WIND SPEED {+/—14.40 PSF). POST WOTE: 18 DOOR SHowN. St
SYSTEM SHALL BE INSTALLEQ WHEN WIND ) .
SPEEDS ARE EXPECTED TO EXCEED 75 <. POST LOCATIONS ON OTHER SIZE
MPH. - DOCRS.
10. IN LIEU OF THE SHORT PANEL
EMBOSSMENT SHOWN, LONG PANEL
EMBOSSMENT, V12 PANEL EMBOSSMENT
OR NO EMBOSSMENT MAY BE USED.
SUPERIMPOSED DESIGN PRESSURE
LOADS ON SUPPORTING STRUCTURE JAMB BRACKET SCHEDULE
MAX | MAX UNIFORM  JPOINT LOAD AT HEADER AND NG~ OFJANE TOCATION OF CENTERLINE 0T JANS
DOOR | DOOR | LOAD EACH SLAB AT EACH POST DOOR | NO. OF | RRACKETS BRACKETS MEASURED FROM BOTTOM
WIDTH | HEIGHT | JAMB (PLF) LOCATION {LBS) HEIGHT SECTIONS| (gacH JAMB) OF TRACK (ALL DIMENSIONS # 27)
(7gr |00 [+185.5/-200.6) +1507.4/-1712.9 Rl I i " {IB=US), 10" (JB-US), Z1—374" (J5—US), 59—3/% (J5-US), 30" (B_Us), 48" (JB-0S), 57172 (5=US)
§'-0" [+185.5/-200.6 +1704.0/-1936.3 70" 4 7 " {JB—US), 10" (JB US), 21—3/%" (JB=US), 29—5/4" (JB— us), 42 (.JB us) 52—1/2 (JB—US) 63—1/4 {JB=US)
18—0" 7'-0" [+190.7/—215.7 +1637.0/—1850.5 Sge 5 8 ™ (J8=U5), 10" (JB-US), 183 JB~ = p "
8-0" {+190.7/-215.7 +1860.3/-2102.9 -0 ] 5 8 " (J5—US), 10" (JB—US). F1—3/4" (JB=US). 29-3/%" (b= us)ﬁ
NOTE:
APPRO\::EEH GEEEO%NS {JB—US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x9/16" TRACK BOLT AND NUT AS SHOWN ABOVE.
MODEL DESIGN ALL DOORS WITH DECORATIVE OVERLAY REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SHEET 4 FOR DETAILS.
T SERIES 173-1/795, 183-185
173 SHORT PANEL
174 LONG PANEL
175 | oo AT T T e 438 DPCRATIR, I VIDLE TR oA WY AT B CIPID I A AR O DL 0 AT i
183 SHORT PANEL— INSULATED * MAX WIDTH: 16 THIS DRAWING {IR INORMATIIN IS INTENDED T GPERATE AS A LICENSE OR AUTHIRIZATION
184 | LONG PANEL— INSULATED = DESIGN PRESSURE(PSF): 46/-52 MAX HEIGHT: &' @ % I Y WHOLE F::jI:H NLL
- * "UNDER . 251 +.0047-000 | X0
189 _TLbSH = UL ATED IMPACT/CYCLIC RATED: YES (HVHZ) |MAX SECTION HEIGHT: 21 25110 500 +006/-003 | o 3% |t
INSULATION IS EXPANDED POLYSTYRENE IN . sk viaam 4w Y43 |UVER 500, +008/- 003 X s
COMPLIANCE WITH 2612.3.1.1 OF THE FBC. Y, (s ey FRACTINS X * 03 | HEASURE
REF_DWG ST . 1718 anoies x50 | EBACH

THIS DRAWIKG
) DOOR CORPORATINN, NO DESCL

OSURE OF

[THOUT THE SPECIFIC VRITTEN CONSENT OF DVERHEM] DOOR_CORPORATION.
HANE DRAVING
o SERIES 170, 180WL
. 11/30/10

LA WS9, 18’ MAX WIDE

G. FINERAN o

AFPRIVED 3P &5 D- 411057

F. TJONG [stas " 1/2 | seer] = 4




| > noTes

13 GA ROLLER SLIDE ATTACHED TO
BRACKET WITH 5/16~18 BOLT & NUT
IN CENTER SLOT AND 1/4-—20x9/18"
TRACK BOLT & 1/4~20 HEX NUT

THROUGH ANY TWO ALIGNING HOLES

(2) 13 GA COMMERCIAL ‘A’
FRAME TOP BRACKETS EACH
ATTACHED WITH (4) 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS

ADD (2) 1/4—14x7/8"

SELF DRILUNG CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END
HINGE)

2" STEEL ROLLER WTH
9" GRADE 1144 OR
EQUIVALENT STEM

(2) 14 GA WIDE BODY END
HINGES EACH ATTACHED WITH
{4) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCREWS:

14 GA WIDE BODY

/OO GENIER STLE INTERMEQATE HNGE & POST._LOCATIONS

U-BAR LOCATIONS

16" THROUGH 18

(5) SECTION DOORS WITH

(7) 3" 20 GA BO KS| U-BARS

LOCATED AS SHOWN

v

14'2" & 15

l {4} SECTION DOORS WITH
(5) 3" 20 GA 80 KS!I U-BARS
LOCATED AS SHOWN

—
- o0
0

INTERMEDIATE HINGE
ATTACHED WITH (4)

1/4-14x7 /8" SELF DRILLING
CRIMPTITE SCREWS

12 GA EXTENSION BRACKET
ATTACHED WITH (3} 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(2 THROUGH STRUT AND BRACKET)

14 GA BOTTOM BRACKET .
ATTACHED WITH (2)
1/4—14x7/8" SELF DRILLING
CRIMPTITE' SCREWS THROUGH
STRUT AND BOTTOM BRACKET
AND (1) 1/4—14x5/8" SELF
DRILLING SCREW

RESISTANT CHAIN:

(4) 5/16x1-5/8"
LAG SCREWS

A(4) 5/16-12x1"
SELF DRILLING
SCREWS

a L]
v
: TOP PLATE NC. 2 HALF HINGE
. EXTENSION ALIGN BOTTOM OF
HEADER ~— HINGE WITH TOP
. : OF THE U-BAR
HEADER LOCK TOP LQCK (4) 1/4~14x7/8"
BRACKET  PLATE SELF DRILLING
#8 BOLT ; CRIMPTITE
AND NUT ' SCREWS
HITCH PIN
CORROSION CORROSION

RESISTANT CHAIN
{2) 5/16—12x1"
SELF DRILUNG
SCREWS W/ 5/16
FLAT WASHERS
48 x 3/4" SELF
DRILLING SCRE

BOTTOM BRACKET

(4) 5/16—-12x1" SELF
DRILLING SCREWS

\ 200N
L 2R .

A e

1-5/8" THK POLYSTYRENE INSULATIO

8" X 8 MIN - = /

TURNDOWN SLAB 8" MIN

AT EDGE ™| EDGE [
DISTANCE

- R
A1 I \
2500 PSI MIN " 14 GA CENTER HINGE
CONCRETE 55 \
. [ . ='ﬂ'_' 7 HITEH PIN
o o-a 2 .

' (9) 1/4-14x7/8"
SELF DRILLING
CRIMPTITE SCREWS
, ADDED TO EACH
HINGE WITH A POST
STRAP

CORROSION
RESISTANT CHAIN
(2) 5/16—12x1" SELF

BRILLNG SCREWS EACH
WITH (1} 5/18 FLAT
WASHER
#8 x 3/4" SELF
DRILLING SCRE

HIPS BACKER

AN

(4) 1/4—14x7/8"
SELF ‘DRILLING
CRIMPTITE SCREWS

(16) #Bx3/4" MIN
STAINLESS SCREWS WITH
STAINLESS BACKED
RUBBER WASHERS-

1/8” BEAD GE
ULTRAGLAZE
S$5G4000AC
STRUCTURAL
SEALANT OR
EQUIVALENT

FACER STEEL.

\

AND INFORMATION, IN WHOLE PART, MAY NOT BE COPIED IN ANY MANNER DR DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. NO DISCLOSURE OF
ANY OF THIS DRAVING DR INFORMATION 1S INTEWDED T0 DPERATE AS A LICENSE OR AUTHORIZATION 10 USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT UF DVERHEAD DOOR CORPORATION
T A RO | TOLERAHCES UMLESS OTHERVISE SPECIFIED FINISH |t tennine. The Origiral, WAME TATE TRAWING TITLE:
| HOLE DIAMETER | wHoLe NLEHEAD BRAVN BY1 SERIES 170, 180WL
24ga EXTERIOR STEEL @ é} UNTER 257 +.004/-003 | NuMBERS: & 25 | NP il M._SAWICKI | 11/30/10 e
25t TO 500 +006/-003 | % 1 [TOnT o oo T =11 l WS9, 18’ MAX WIDE
bey, tess iEhvise JOVER 500 +.008/-003 XX + .03 | HEASURE G. FINERAN 3 BgE D— 411057
PECIFIED BIACASIS W FRACTIONS XY + 010 AC NONE APPROVED BV MMEER
REF_DWG TSED oW ] : V6 avcLes 5+ | EACH Fordme  |sistlv e m T 3

) OPTIONAL N L
’ NON-STRUCTURAL )
DECORATIVE INNER
POST WINDOW TRIM

ATTACH U-BAR WITH
(2) 1/4—14x7 /8" SELF

DRILLING CRIMPTITE SCREWS
AT EACH STILE LOCATION, TYP.

POST

LOCKING
* STRAP

1/2-13x3~1/2"
HEX BOLT

1/2-13 HEX NUT

OPTIONAL NON-STRUCTURAL
DECORATIVE QUTER WINDOW
TRIM

1/4" POLYCARBONATE

S~

| REVISIONS

DESCRIPTION
RELEASE PER ER

APPROVAL

SET

DATE,
g7 g

[71]

=

1=

[

-]

e
I

DOVERHEAD- DOUR CORPORATION
2501 S, STATE HWY 121, BUSINESS

LEWISVILLE, TX 75067
LERDY KRUPKE, FL PE 36580

THE DRAWINGS AND ALL DTHEERI!‘iF;‘IDRHAT[DH CONTAINED HERLIN ARE THE CONFIDENTIAL AND PROPRIETARY

SIEUPERTY OF OVERHEAD DDOR CORPORATION AND 1TS AFFILTATED COWPANIES, THIS LRAWING




[> NOTES

[+

78"

[ 1257 | 7"

b

O 1.0"

" JOF LOCK PLATE
3.75

- #1327

---"— .097" min

L

{v k 4.5"

N =l 4

\u #11/32"

Tty

== 007" MIN

}_——-| 181" [=—

9.63" |

1.75" T
——-l |
L 5"
= 22~ 1
=1 |
88"
e 3.38" =l
.097" MIN
HEADER_LOCK BRACKET
]
r 125" J l
f 097" MIN
372"
— a7
S 6063 T-6 ALUMINUM INNER POST

— | [—

127" MIN

POST SYSTEM COMPONENT DETAILS A\

TO SECURE TOP OF

HEADER LOCK BRACKET |
POST FOR STORAGE

CORROSION RESISTANT
CHAINS, TYP.

REVISIONS

al |

DESCRIPTION DATE APPROVAL

00859

RELEASE PER ER 26 THLA Y <

HALF HINGE TO SECURE
BOTTOM OF POST FOR
STORAGE

[T #

POST SYSTEM STORAGE

NOTE: POST SYSTEM SHALL BE STORED IN A
CONVENIENT LOCATION AS CLOSE TO GARAGE DOOR
AS POSSIBLE.

S 3/‘//

IJVERHEMJ ]JE!I]R CI]RPURATIIJN
2501 S, STATE.HWY 121, BUSINESS
LEWISVILLE, X 73067

LERDY KRUPKE, FL PE 36580

THE DRAWINGS AND ALL DTHER INFURMATION CONTAINED HEREIN ARE NTYHEE.mlI:IZINF]]JE!\ITI.‘\L AN} PROPRIETARY PROPERTY OF DVERHEAD DOOR CDRPIZIRMIDN AND ITS AFFILIATED COMPANIES. THIS DRAVING

A D INFORMATION, IN WHOLE IR IN PART, MAY NDT BE COPIED IN NNER DR DISCLOSED 7O ANYONE WITHOUT THE PRIOR WRITTEN CONSENT DF DVERHEAD DOOR CORPORATION. ND DISCLGSU
Y OF THIS DRAU]NE OR _JNFORMATION 1§ INTENDBED JO OPERATE AS A LICENSE OR AUTHORIZATION TO USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CURPEIRAT]EIN

TOLERAHCES UHLESS OTHERVISE SPECIFIED FINISH [ The Geneine. The Orlglnal. HAME DATE | oravinG miTLes

HOLE DIAMETER WHOLE LEVISVILLE. [ roavs v SERIES 170, 180wL

@ % UNDER 251 +0047-003 NUMBERS' % 25 N/A GiE ‘F : M. SAWICKI | 11/30/10 ws9, 18 MF;X WIDE
— 251 Th 500 +.006/-.003 X P UNIT OF | WTerias CHECKED 371 / [ !

. YLAL0 M VS | OVER (500 +008/-.003 WX + 03 | HEASURE G. FINERAN |5{34 4 B Do 411057
"&‘{“c‘fu"r’ﬂ%ﬂ"% FRACTIONS R + 010 NONE APPRUVED BY: AGER
REF WG TSTETE * 1/16 ANGLES: & 5+ | EACH Foove 5l e Teerae 2




| > noves

s

14"
MAX

5

-

13 GA MIN DCWACK
CONTINUOUS 3 .
PLICE PLATE WALL ANGLE ° .
]
. ol R )
MIN 11 GA ° ¥—j(.’,) 1/4"-20 TRACK
s OR CARRIAGE BOLT
/ WITH 1/4"—20 NUT
TYPICAL CLIP
BOLTING DETAIL

12"
MAX RSY MIN 11 GA CLIP
12 SEE CLIP DETAIL »
MAX THIS SHEET (1) 1/4"—20 TRACK
13 GA MIN OR CARRIAGE BOLT
CONTNUOUS  2.» WITH 1/4"-20 NUT
12" E WALL ANGLE ) TRAGK
MAX [ TYPICAL CLIP
WELDING DETAIL
12" 2 3/4"
MAX MIN EDGE DIST
5/18" LAG SCREW INTO n oqv
MIN 2 x 6 LUMBER AT 25,51’3/,_:4 Df‘g}
127 EACH HOLE LOCATION—\
MAX S~rAck

T 6" MAX.
CUPS TO BE EITHER 3/8” SIMPSON TITEN
BOLTED OR WELDED. SEE HD, 2-3/4" MIN \
DETAILS THIS PAGE. EMBED INTO MIN CONTINUOUS WALL ANGLE
2000 PSI CONCRETE 1/4-20x9/16" TRACK BOLT A ’
FOR CACH HOLE AND 1/4-20 HEX NUT \
FASTENERS PER
TRACK CLIP TABLE THIS SHEET
2
L. \MINIMUM 2x6 #3 .
ACONTINOUS WALL ANGLE DETAILS | v
! LUMBER. 14’ MAX HEIGHT
MAXIMUM
SPACING
|
MINIMUM 2x8 #3 @ HEAOER LOCK MINIMUM 2x8 #3 @€ HEADER LOCK  MINIMUM 2x6 #3 ¢ HEADER LOCK J
SOUTHERN PINE BRACKET SOUTHERN PINE BRACKET SOUTHERN PINE BRACKET » __ﬂ
LUMBER: LUMBER. LUMBER. 67 MAX. ;
e e arlan e o] 4 . - 9 MAX WIOTH
L\ L T s o | l |
< S I —L s 7 tom b A
f I J i
&

(2) 3/8" SIMP
ANCHOR WITH

AND A MINIMUM EMBEOMENT DEPTH OF

" 2501 S, STATE HWY 121, BUSINESS
2-3/4" AND A MINMUM EDGE Bt p . MINIMUM EDGE WASHERS! LEVISVILLE, TX 75067 -~
DISTANCE OF 2-3/4". . DETAIL 3 : LEROY KRUPKE, FL PE 36580
DETAL 1. QETAL 2 WOOD SUPPORT STRUCTURE, THE DRAWINGS AND ALL OTHER INFORMATION CONTAINED HEREIN ARE THE CONFIDENTIAL AND PROPRIETARY PRUFERTY OF OVERWEAD DOUR CORPORATION AND 1TS AFFILIATED COMPAMIES.  THIS TRAWING
MINIMUM 2000 PGl CONCRETE AND INFORMATION, IN WHOLE DR IN PART, MAY NOT BE COPIED IN ANY MANNER DR DISCLOSED TO ANYOME WITHOUT THE PRIDR WRITTEN CONSENT DF DVERHEAD DUDR CORPDRATION. NO DISCLOSURE OF
¥ OF_THIS DRAWING OR INFORMATION I§ TNTENDED TO DPERATE AS A LICENSE OR AUTHORIZATION TD USE IT FOR ANY PURPOSE WITHOUT THE SPECIFIC WRITIEN CONSENT OF DVERMEAD DOOR CORPORATION.
) w TOLERANCES LHLESS UTHERWISE SPECIFIED FINISH [ The Genuine, The Origin. NAHE TATE DRAVING TITLE:
‘ HOLE DIAMETER WHOLE YEAEVILE: orawm v SERIES 170, 180WL
‘ @ ] [UNDER .251 +.004/-003 | NUMBERS: % .25 WA |Gy o M, SAWICKI | 11/30/10 \
_— 251 TO 500 +008/-003 | +9 [ONT OF e e W39, 18 MAX WIDE
; ASIE Va0 M0 aids [OVER 500 +.008/003 XX t 03 | MEASURE G. FINERAN ‘5/'}: / e
l Eﬁ'?ﬁ“&s"%ﬁ#‘“m’%’ FRACTIONS XX + .010 NONE APPROVED %1 v HUHBER D 411057
REF_DWG USED ON__| t 1716 anGLES  + 50 | EACH F. TJONG 9’{ H / I fow 172 Twmdo 3

2-3/4 —t !

[y

/(4) 3/8" SIMPSON TITEN HD SCREW
ANCHOR WITH A 1-1/4" 0.D. WASHER
AND A MINIMUM EMBEDMENT DEPTH OF

SON TITEN HD SCREW
A 1-1/4" 0.D. WASHER

¥
MAX SPACING OF ANCHORS/SCREWS PER JAMB (IN)

3/8” SIMPSON TITEN | 3/8° SIMPSON TITEN "y
Hé SCREW ANCHOR TO {HD SCREW ANCHOR TO a{g S)éR:éWLONG
MINIMUM 2000 PS) MINIMUM 2000 PS)
CONCRETE GROUT FILLED CMU {SEE NOTE 3
(SEE NOTE 1 BELOW) |(SEE NOTE 2 BELOw) |BELOW)

24 24 24

1. BASED ON 3/8” SIMPSON TITEN HEAVY DUTY SCREW ANCHOR WITH A 17 O.D, WASHER INTO CONCRETE WITH A
MINIMUM EMBEDMENT DEPTH OF 2—3/4" AND A MINIMUM EDGE DISTANCE OF 2-3/4",
2. BASED ON 3/8" SIMPSON TITEN HEAVY DUTY SCREW ANCHOR WITH A 1" 0.0. WASHER INTO GROUT FILLED CMU WITH

A MINIMUM EMBEDMENT DEPT
CONCRETE MASONRY UNITS

H OF 2-3/4", A MINIMUM EDGE DISTANCE OF 4", AND A MINIMUM END DISTANCE OF 4",
SHALL CONFORM TO ASTM C90 AND GROUT SHALL CONFORM TO ASTM C476.

3. BASED ON 3/8" DIAMETER x 3" LONG LAG SCREWS WTH 17 0.D. WASHERS WITH A 1-B/32" THREAD PENETRATION

INTO SEASONED DRY WOOD SUPPORTING STRUCTURE.

4. PROVIDE QUANTITY OF SCREW ANCHORS OR LAG SCREWS AS REQUIRED TO MAINTAIN MAXIMUM SPACING AS SHOWN iN
TABLE WITH A MINIMUM OF THREE (3) SCREW ANCHORS OR LAG SCREWS PER JAMB. SCREW ANCHORS OR LAG SCREWS
AT TOP AND BOTTOM OF JAMB SHALL BE PLACED A MAXIMUM OF 6" FROM THE END OF THE JAMB.

5.

6. CHART INCLUDES A SAFETY FACTOR OF 4,
7. DOOR JAMB TO BE MINIMUM 2x8 NO. 3 SDUTHERN PINE LUMBER {MIN) MOUNTED DIRECTLY TO SUPPDRT STRUCTURE.

8. DESIGN OF THE SUPPORT STRUCTURE SHALL BE THE SOLE RESPONSIBILITY OF THE BUILDING DESIGNER AND SHALL BE
DESIGNED FOR THE LOADS LISTED IN NOTE 5.

9. SCREW ANCHORS OR LAG SCREWS SHALL BE INSTALLEO PER MANUFACTURER'S WRITTEN INSTRUCTIONS.

—L
-

LOAC PER JAMB CALbULATED TO BE A MAXIMUM OF +207.0/-234.0 LBS PER FOOT,

REVISIONS

1560669

ER BESCRIPTION DATE

RELEASE PER ER El"f;g'u

—_—

R GE—

LA

—

{(4) 3/8" DIA. x 3" !
LONG LAG SCREWS |
WITH 1-1/4" 0D.

DVERHEAD DOOR CORPORATION .~




